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timekeeping questions


1) To enable TKs to comply with UKA and World Athletics rules a clearly visible marker should be placed on or___________ the__________    ________ of the track to indicate the distances of __________
and ____________ in the 3000m Steeplechase.


1b) Similar marks should be placed at other required distances. What might these be?


2) You are timing the 1st round of a 100m and photo finish is not in use. Those on positions 3,4 and 5 have returned the same times to the 1/10th. In determining the fastest losers, what must not be considered when making a decision.





Answers


1)  near, inside edge, 1K, 2K.


1b) 1500m in 1 mile, 3000m in the 2 miles.


2) hand times to 1/100th of a second.
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